
Cut Sheet

 

v1.10

3

7

6

5

4

2

1

 .50 

 .24 5/16 THD1) Bolt Lag 5/16 X 4.5"

Part Number Description
FM-FF1-002 Kit, 6-Pack, IronRidge FlashFoot (Mill)(L-foot Included)

FM-FF1-002B Kit, 6-Pack, IronRidge FlashFoot (Black)(L-foot Included)

Item Number Description Qty in Kit
1 BOLT LAG 5/16 X 4.5" 6

2 WASHER, EPDM BACKED 6

3 BOLT, 3/8-16 X 1" HEX CS SS 6

4 NUT, FLANGE HEX 3/8-16 SS 6

5 FOOT-L, ADJUSTABLE EXTRUDED 6

6 IR-GF-FLASHING 6

7 IR-GF-SUPPORT 6

Property Value
Material Stainless Steel

Finish Clear

FlashFoot™



Cut Sheet

v1.10

.75 

.35  .14 

 1.88 

 3.00 

 1.22 

 .31 

 1.92 

 .94 

 1.18 
 .42 

2.50 

.38 

 .31 

 .56 

 .23 

 1.00 

3/8-16 THD

 .56 

.75 3/8-16 THD

 .35 

 12.0 

 12.0 

 .25 

2) Washer, EPDM backed 5) Foot-L, Adjustable Extruded

7) IR-GF-Support

4) Nut, Flange Hex  3/8-16 SS

3) Bolt, 3/8-16  x 1" Hex CS SS

6) IR-GF-Flashing

Property Value
Material Steel

Finish Hot-Dip Galvanized

Property Value
Material Aluminum

Finish Mill / Black

Property Value
Material Aluminum

Finish Mill

Property Value
Material Stainless Steel

Finish Clear

Property Value
Material Stainless Steel

Finish Clear

Property Value
Material Aluminum

Finish Mill / Black


